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α)       ΒΓ 3 3 , 5 1 6, 6        

β)   Το μέσο Μ της ΒΓ  έχει συντεταγμένες 
3 3 1 5

Μ ,
2 2

   
 
 

  ή  Μ 0, 2  

Άρα    ΑΜ 0 1, 2 2 1, 4        

γ)   Έστω  Ρ x, y  το ζητούμενο σημείο. 

Είναι  ΑΡ x 1, y 2    . Άρα έχουμε : 

   
x 1 6 x 7

ΑΡ ΒΓ x 1, y 2 6, 6
y 2 6 y 4

   
        

     
 . Άρα είναι  Ρ 7,4  

δ)   Έστω   Κ x, y  το ζητούμενο σημείο. 

Είναι  ΑΚ x 1, y 2    . Άρα έχουμε : 

   
1 1

ΑΚ ΒΓ x 1, y 2 6, 6
3 3

          

   
x 1 2 x 1

x 1, y 2 2,2
y 2 2 y 4

     
       

   
 . Άρα είναι  K 1,4  

 

 

 


